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Introduction 

And you thought the Clintons had a tangled relationship. 

Yes, there's a relationship among net asset value (NAV), yield, and total return, but it's complicated. Each represents something a little different than the other, and oftentimes, the terms yield and return are used interchangeably. Did you know that a fund's NAV can fall and you can still make money? Or that a fund can yield less than 1%--heck, it can yield nothing at all--and can still be a chart-topping performer? 

If you remember nothing else from this course, remember this: When it comes to measuring performance, neither NAV or yield will do. Total return is the number to watch. 
Distributions Muck Up NAV 

As we pointed out in our last session, a change in a fund's NAV gives only a sketchy picture of the total return the fund has generated. Watching a fund's NAV is like watching a television with shaky transmission--sometimes you get an accurate picture, and sometimes you don't. With funds, interference occurs whenever a fund makes a payment to its shareholders, otherwise known as a distribution. 

By law, mutual funds must distribute any income they have received and capital gains they have realized from their holdings. But whenever a fund passes along either income or capital gains to shareholders, its NAV drops. If a fund with an NAV of $10 makes a $4 distribution, its NAV slips to $6. 

Despite the shrunken NAV, shareholders are none the poorer. They still have $10--$6 in the fund and $4 in cash. Unless they need the income, most investors reinvest their distributions; in other words, they instruct the fund company to use that cash to buy new shares of the fund. Most total return numbers reported in newspapers or on the Web, including those used by Morningstar, assume that you reinvest your distributions. 

Where Does Yield Fit In?

Yield represents income that a fund distributes to its shareholders. Income comes from dividend-paying stocks and bonds owned by the fund. Income excludes any capital-gains distributions, as well as any underlying gains in the portfolio that have yet to be realized. (Capital-gains distributions are the result of the fund selling stocks or bonds that have gained in price. Unrealized gains are those made by stocks or bonds that the fund hasn't sold.) A fund's yield is therefore only the income component of its total return. That's why a fund can have a yield of 0%, meaning that it makes no income payments to shareholders, and still have a positive total return. 

Yield can be calculated in a variety of ways. Morningstar calculates yield on a trailing-12-month basis. In other words, we add up all of a fund's income payments over the past year and divide the total by the most recent month-end NAV. 

So how can you use a yield figure? Yield tends to interest those investors who need regular income, because they can reinvest any capital gains a fund generates while pulling out the income, or yield. Also, because income is taxed at a higher rate than capital gains, high-yielding funds are usually tax headaches. So if you are investing in a taxable account, as opposed to an IRA or retirement plan, watch out for funds with burly yields. 

Total Return, for the Total Performance Picture 

Total return encompasses everything we have discussed thus far: changes in NAV caused by appreciation or depreciation of the underlying portfolio, payment of any income (yield) or capital-gains distributions, and reinvestment of all distributions.

Ending position - beginning position
x 100 = total return


            Beginning position


Here's how it works. Say you buy 10 shares of Fund A at $9 per share. After a few months, the fund's NAV rises to $12. The fund sells some of its winning stocks and makes a $2 per-share capital-gains distribution. It makes no income distributions. As a result, the fund's NAV falls to $10. Your distribution of $20 ($2 x 10 shares) is used to buy 2 more shares at the new $10 price. Finally, say the fund's NAV rises again, this time to $11 share. 

So what is the yield on this investment? Zero, because it has not paid out any income. What about your overall return? Well, if you used only your NAV to calculate return, your shares would be worth the fund's final $11 NAV times your initial 10 shares, or $110. That's an NAV return of 22% on your original investment. 

But that figure would be inaccurate, because you need to factor in the capital-gains distribution that you reinvested. Add that back in and you'll find your investment is actually worth that $110 plus the $22 your two new shares are worth, for a grand total of $132. Your total return is really 47%. Not too shabby.

Quiz ----------------------------------------- Name ____________________________ 

There is only one correct answer to each question.

1. Total return takes into account:


     
a. The change in a fund's NAV over time, plus the yield.


     
b. Capital gains and income distributions.


     
c. The change in a fund's NAV over time and the reinvested distributions (such as yield and capital gains) the fund makes during that time.


2. When mutual funds pass along distributions to shareholders, their NAVs:


     
a. Rise.


     
b. Fall.


     
c. Stay the same.


3. What does yield represent?


     
a. A fund's income distributions over the past 12 months.


     
b. A fund's capital-gains distributions over the past 12 months.


     
c. A fund's total return.


4. What is reinvestment?


     
a. Taking income or capital-gains distributions in cash.


     
b. Automatically putting income or capital-gains distributions back into the fund.


     
c. Adding more to your position in a fund.


 5. You bought 10 shares of a fund with an NAV of $10. It makes a $5 per share distribution, and its NAV falls to $5. If you reinvest, you have:


      
a. Lost $50.


      
b. Ten shares of the fund.


      
c. Twenty shares of the fund.

Answers:
1. Total return takes into account:


     
a. The change in a fund's NAV over time, plus the yield.


    
 b. Capital gains and income distributions.


     
c. The change in a fund's NAV over time and the reinvested distributions (such as yield and capital gains) the fund makes during that time.

C is Correct. Total return includes all elements of return, both income and capital gains that have been realized and distributed, as well as any unrealized gains in the fund's underlying portfolio, which are reflected in NAV changes.


2. When mutual funds pass along distributions to shareholders, their NAVs:


     
a. Rise.


    
 b. Fall.

     
c. Stay the same.

B is Correct. NAV slips once a distribution is made. Remember, though, shareholders still have their money--they simply now have some in the fund and some in cash.


3. What does yield represent?


     
a. A fund's income distributions over the past 12 months.

     
b. A fund's capital-gains distributions over the past 12 months.


     
c. A fund's total return.


A is Correct. While a fund's total return includes any income distributions made over the past 12 months, it also reflects any capital-gains distributions and NAV changes. Yield, meanwhile, measures income distributions only.
4. What is reinvestment?


     
a. Taking income or capital-gains distributions in cash.


     
b. Automatically putting income or capital-gains distributions back into the fund.

     
c. Adding more to your position in a fund.

B is Correct.  Shareholders elect whether they want to take their distributions in cash or whether they want them reinvested, or put back, into the fund to continue to grow.



 5. You bought 10 shares of a fund with an NAV of $10. It makes a $5 per share distribution, and its NAV falls to $5. If you reinvest, you have:


      
a. Lost $50.


      
b. Ten shares of the fund.


      
c. Twenty shares of the fund.

C is Correct.  When funds make distributions, you are none the poorer. Because you have chosen to reinvest, your distribution of $50 ($5 x 10 shares) buys 10 more shares at the new $5 NAV. You now have a total of 20 shares in the fund.



